NOTES:

A. PROPORTIONAL CONTROL VALVE OPERATION
1. WARNING DO NOT CONNECT VALVE COIL DIRECTLY
TO BATTERY/POWER SUPPLY VOLTAGE.
2. OPERATION TO BE PERFORMED WITH ONLY TWIN DISC
CONTROL SYSTEMS OR MODULES.

B. MANUAL DIRECTIONAL CONTROL VALVE OPERATION
1. WITH MANUAL DIRECTIONAL CONTROL VALVE IN CENTERED
POSITION, PUSH TO ENGAGE SECONDARY CLUTCH.
2. WITH MANUAL DIRECTIONAL CONTROL VALVE IN CENTERED
POSITION, PULL TO ENGAGE PRIMARY CLUTCH.

C. MANUAL DIRECTIONAL CONTROL VALVE MODE SWITCH
1. SWITCH IS NORMALLY CLOSED WHEN MANUAL DIRECTIONAL
CONTROL VALVE IS IN THE CENTERED POSITION AND
OPEN WHEN LEVER IS ACTUATED FROM CENTERED POSITION.
2. CURRENT =20 AMP MAX.
3. FOR WIRING SCHEMATIC, REFER TO CONTROL MODULE DRAWING.

D. REFERENCE S930 FOR TWIN DISC REQUIREMENTS FOR PRESSURE
AND TEMPERATURE ALARM LEVELS.

1

2
3
4

INPUT GROUP REFERENCE PLANE

PTO ADAPTER MOUNTING FACE

LEFT MOUNTING BRACKET FACE

RIGHT MOUNTING BRACKET FACE

OIL STRAINER

SECTION A-A

6X ®20.75 DRILL, 45.0 DEEP,

M20x2.5 4H5H HELI-COIL

STI TAP PART NO. 4693-20, 32.5 DEEP
©»23.80-23.20 C'SINK TO

SECONDARY CLUTCH (FIRST)
PRESSURE PORT

M12x1.5 METRIC PORT
CONFORMS TO ISO 6149
TIGHTENING TORQUE 16+1.5 Nm

@)

MAIN PRESSURE PORT

TEMPERATURE AND LUBE PRESSURE PORT

M18x1.5 METRIC PORT
Qrr)¢{ G ){Tac) CONFORMS TO SO 6149
(AFTER HEAT EXCHANGER)

TIGHTENING TORQUE 34 +3 Nm

et

/BREATHER

L
o

MAIN PRESSURE PORT
M12x1.5 METRIC PORT
CONFORMS TO ISO 6149
CONNECT OIL PRESSURE

GAUGE LINE HERE.

TIGHTENING TORQUE 16+1.5Nm

/
NAV5)

I

o/ )

TEMPERATURE AND LUBE PRESSURE PORT/

c98¥L0oL

M14x1.5 METRIC PORT

CONFORMS TO I1SO 6149

O

(AFTER HEAT EXCHANGER) Vam

TIGHTENING TORQUE 20 +2 Nm

TEMPERATURE AND LUBE PRESSURE PORT
M18x1.5 METRIC PORT

CONFORMS TO ISO 6149

(AFTER HEAT EXCHANGER)

TIGHTENING TORQUE 34 +3 Nm

PRIMARY CLUTCH (FIRST)
PRESSURE PORT

M14x1.5 METRIC PORT
CONFORMS TO ISO 6149
TIGHTENING TORQUE 20+2 Nm

PRIMARY CLUTCH (FIRST)
PRESSURE PORT

M12x1.5 METRIC PORT
CONFORMS TO ISO 6149
TIGHTENING TORQUE 16+1.5 Nm

L
2 S [ a—

]

Q

2X ©16.7 THRU

FOR 5/8-11UNC STANDARDS
EYEBOLTS WITH NUTS. THESE HOLES
MAY BE USED FOR LIFTING MARINE
TRANSMISSION ONLY.

659.31

v

SEE NOTE "A"

REMOVE FOR OIL FILL

MAIN PRESSURE PORT
M16x1.5 METRIC PORT
CONFORMS TO ISO 6149

(X)

TIGHTENING TORQUE 24 +2 Nm

—=— 103.70 —

END OF PUMP

539.50

L —ENGAGES SECONDARY CLUTCH

|~ ENGAGES PRIMARY CLUTCH
SEE NOTE "A"

120° INCLUDED ANGLE,6 HOLES. M27x2.0 METRIC PORT B 3 ~— 1270
FOR MOUNTING UNIT CONFORMS TO ISO 6149 - |~ 6.40
USE 8.8 PROPERTY CLASS QUALITY CONNECT OIL PRESSURE SAE #0
CAPSCREWS PER ISO 898-1 AND TIGHTENING TORQUE 75:7 Nm SEE NOTE "C" PER SAE J617
TORQUE TO S574 OR SERVICE
MANUAL VALUES. SEE NOTE --B--\ 9 1
) OIL IN FROM HEAT EXCHANGER 1 1
M33x2.0 METRIC PORT O ]
— CONFORM TO ISO 6149 I I
o REM(g)VE(')I’HREAD PGROTECTOR I @ INPUT SPEED 2
BEFORE OPERATING UNIT. PICK-UP PORT
5/8-18UNF THREAD
O INPUT SHAFTE TARGET WHEEL : 54 TEETH|
FILTER DRAIN OO 8 30
8298288288 OO
38989909238 OIL LEVEL GAUGE
SECONDARY CLUTCH (FIRST) 95332089929 ()
PRESSURE PORT 888888888% O OO
M14x1.5 METRIC PORT 0800800030399 ~
CONFORMS TO ISO 6149 LE00500RLLIRV/ R ©
TIGHTENING TORQUE 20+2 Nm = >
::_‘ |
HH PRIMARY CLUTCH (SECOND)
B PRESSURE PORT N
M14x1.5 METRIC PORT
= SECONDARY CLUTCH (SECOND) 1026191 o O CONFORMS TO ISO 6149 :
Bl PRESSURE PORT TIGHTENING TORQUE 20:2 Nm A
il M14x1.5 METRIC PORT @
CONFORMS TO ISO 6149 O
mil TIGHTENING TORQUE 20+2 Nm m s 9
A 0 ! . . i ~ o
Nt AL S o L i i i S 0~
~ N S  ©
/E ; @) _—RH. ENGINE ROTATION [
! \ ] DRIVEN THROUGH !
o # @ O O PRIMARY. i
o
5 5 ‘ ‘ L ® | o | |
3 ) v - \’/ \
f: | | / | \_{/ / N | | | |
s g : =0 k :
- N~ 4 — —{ N~
: C I 00 | ] © S 3 i STl | g
DR () OIL OUT TO HEAT EXCHANGER ) ~ = i | | | |
\/ M33x2.0 METRIC PORT = i
CONFORM TO ISO 6149 O — \ 1 B I
REMOVE THREAD PROTECTOR £ O t -
| BEFORE OPERATING UNIT, & - | &
fd N = | | | |
: N ) i : : e - TN AN (7R
O o)) 1 = =
! e Q9 = _‘ : E) X < !
Y i DO Q)7 & (1 | ——— N
_/ / Te) | 1
fim (? % ) =1 o
I N f 1 , ¢ =i fan
5 h% | 0 : !
= i H
4 = 6
| TEMPERATURE Al 1016255A N B i | ‘
_ M14x1.56 METRIC PORT » : |
ilm | CONFORMS TO 1SO 6149 - | s
| (BEFORE HEAT EXCHANGER) ] = |
N TIGHTENING TORQUE 20 +2 Nm F 8X (20.75 DRILL, 45.0 DEEP,
6.23 - M20x2.5 4H5H HELI-COIL
' \_ W ST TAP PART NO. 4693-20, 32.5 DEEP
23.80-23.20 C'SINK T
| T R P ORT GREASE FITTING 224 — == | 120° INCLUDED ANGLE,8 HOLES.
N 2 CONFORMS TO ISO 6149 ! N J on PR OPERTY
USE 8.8 PROPERTY CLASS QUALITY
(BEFORE HEAT EXCHANGER)
TIGHTENING TORQUE 20 -2 Nm OUPUT SHAFT & CAPSCREWS PER ISO 898-1 AND
§ 8X ¢ 24.5 THRU ALL TORQUE 10 S574 OR SERVICE
EQUALLY SPACED .
R.H. ENGINE ROTATION 928,60 B
3505 = ele 101.60 OUTPUT SPEED DRIVEN THROUGH $228.60B.C. 101.60 — = ol 3505
' ' PICK-UP BRACKET / SECONDARY. ' '
TARGET WHEEL : 64 TEETH] 4
- 203.20 - - 203.20 -
374.65 —— 266.70 -
- 304.80 - \ - 304.80 -
= 414.38 - DRAIN PLUG
M33x2.0 THREAD - 396.03 =
METRIC PORT CONFORMS
TO ISO 6149
TIGHTENING TORQUE 88+8 Nm - 490.78 -
B | ECNWF-103345 [11/02/2023
REV CHANGE NO. DATE
EQUIPMENT SHOWN: . MATERIAL: DATE:
~MGX-5204SC PER ASSEMBLY 1026193A e e FiGHT | (AR T | THRD ANGLE 8/23/2010
- SAE #0 HOUSING(BOM 45886) SMILARTO: R’ on| N ] PROVFETON HEAT TREAT: SCALE1:'3 RACINE, WI 53403 - USA
- GP VALVE WITH EC050 CONTROL MODULE M ET R C MESS OTERWSE SeECIED - 13 , -
X. +0.75 YU
B NS PRI MO S, K08 PESCRIPTION DM 1026242A
“*""TWIN DISC, INCORPORATED e Ry NP INSTALLATION APPROVED BY. |DWG SHEET REV:
GRANTED TG THE U5, GOVERNVENT OK OTHERS BY CONTRACT. PER ASME Y14.5M 1994 MGX-5204SC ALC  [8%& AQ OF 1 B
i J | H G F E D C | B | A 10254200 . &




	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View6
	Section View A-A


